5.1

sn, cos
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AB

mU + MV =mu

Ll 241 2 _ 12
>mU< +5MV< =5mu

mU? + MV?2 = mu?

(5. 1)

m(u—U) = MV, m(u? —U?) = MV?
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(5. 1)

(5.2)



mu-U)u+l)  mv2
mu-U)y — MV

V-U=u

(5.1), (5.3) UV

1

2
(1+4)2 u

%MVZ—ZWﬂu2=2M

— (m+M)2

5.2
51
(5.3)
A B
A, B
m M
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(5.3)

(5. 4)
(5.5)

A,B



(5.4),

M

(5.5)

—<mu+%-2mu=mu
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w|~

mu



mu + 3$mu = 2mu

W~

mu

5.3

(1)

5.2

mU + MV =mu

1 241 2 _ 12
>mU< +5MV< =5mu
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m, nm

mu +nmO0 =m0+ nmV
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AB



[l
wl~
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[
Wl
o

MmO + nmu = m0—nmV
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AB



B u n>1

(2)
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M1V1+MaV2 + ... + MpVp = M1V] +MaV5 + ... + MV, (5.6)

P=mv+m(-v)=0

IMmav|+mava|+ ...+ |Mpvn| = MoV + [mava| + ...+ [Muval
(5.7)

V = Vyl +Vyj + VK

V| = /VZ + V& +VZ (5.8)
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5.4

P= |m1V1|— |m2V2|

ZMVE +3MaV3 + ... +3MyV2
1 1 1
=3M1(V1)® +3M2(V2)? + ... + 3Mn(Vn)?
mU + MV =mu
3MU2 +3MV?2 = $mu?
2 2 -2
m M

5.1
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(5.9)

(5. 10)



(2)

(1)

N

5.1

u\Vv

V+0

U+0

AB

12

5.5
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5.3

m,M

m,nm
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AB

AB

AB

nm



A |muj
Imul
Imul
A
—[mul
m,nm
A B

AB

A mu
B; |nmO|=0
B

Imul

Imul

A, |mu|—|mu|=0
B; |nmO|+ |mu| = |mu]|
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mu

AB

—ku

AB



A U B \Y A |mu]
B B [mu| A
—|mu| B [nm(—ku)|
A A [nm(—ku)|
B —|nm(—ku)|

|[mu| + [nm(=ku)| = |[mU|+ [nmV|

AB

A; Imu|
B, [nm(—ku)|

A; [mU| = |mu|— [mu| + [nm(—ku)|
B; [nmV| = [nm(—ku)| — [nm(—ku)| -+ |mu|

A; [mU| = [nm(—ku)]
B; [nmV|= |mu|

u,Vv

A; U =-nku
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W
<
Il

sle

AB

AB

AB

u=5 k=4 n=3

u=5 —ku=-20

U=-nku=-60 V=%=

AB

AB
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m, nm A u B Vv
u>v A B
A B
A U B Vv u<sv
A B u-v
u-v B
B
A u B Vv

|[mu| + [nmv| = |mU| + |nmV|

A B Im(u —v)|

AB

A; [ImU| = [mu|—=|m(u—v)|
B; [nmV| = |nmv| + |[m(u — V)|
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AB

5.6

[mu| + [nmv|
|[mU| + [nmV| = [mu|— |[m(u — v)| + [nmv| + |[m(u — v)|

= |mu|+ [nmv]|

A B
AB

AB C
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5.5

A,B
Au
B; —ku
A;U=-nku
B;V==+
n=3 A,B
u,—ku
A B A,B
(1) u=5 ku=-4 9
U=-12 V=2 13% [= 13+ %]
(2) u=4 ku=-5 9
=-15 V=% 165 [=16+%]
(1) A B B 9 A
B A 9 B
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(1)

(2)

(2)

(D, (2
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